A £ 0l & AF & S

Al A

A NSHAFE
M DESANM
Eel: HSusSAEXR (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
wSHF 36,585,716 34,011,403 2,574,313
= 968,500
[ 270,000
= 2,196,976
Al 33,150,240
wSEFMNH 32,529,263 28,113,191 4,416,072
= 968,500
Fas 270,000
= 2,196,976
Al 29,093,787
S WUSAELXA 32,529,263 28,113,191 4,416,072
= 968,500
= 270,000
S 2,196,976
Al 29,093,787
AMUHASSHIXI 4,167,000 2,185,000 1,982,000
307 @120l & 4,167,000 2,185,000 1,982,000
09 2FSHEXS 4,167,000 2,185,000 1,982,000
ORSIHCHO U R8s PH
2,185,000,000& *14] 2,185,000
OXZ DS 1002HA A
1,982,000,000& *14] 1,982,000
HAMMEXIE S 4,619,952 4,157,340 462,612
= 1,596,976
Al 3,022,976
307 @120l & 4,619,952 4,154,640 465,312
== 1,596,976
Al 3,022,976
09 2=FAHEXS 4,619,952 4,154,640 465,312
OHiA 28t WEXJ (A =H)
3,193,952,000& x14] 3,193,952
S 1,596,976
Al 1,596,976
OHA s5Hat HEXEH
2,352,000,000& * 141 %50% 1,176,000
OAlLIH A nSote Z2H +=+=8 X
250,000,000& *14] 250,000
ol SxE2 2,194,457 2,029,172 165,285
= 103,500
Al 2,090,957
301 LtENZ 345,000 356,600 211,600
= 103,500
Al 241,500
14 DBt 2 a3 345,000 356,600 211,600




A nSHEL
M DESANM
el HSnsSAIEX (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBISHEAl 0 P82
273,000,000 » 14 273,000
= 81,900
Al 191,100
OHISHEAl 2 & HEAY
2,000 «20EH*15021* 12 72,000
< 21,600
Al 50,400
307 glztol & 1,849,457 1,648,572 200,885
05 2IMRIE =3 1,849,457 1,648,572 200,885
Ol SXte 224l 2X(210)
1,695,856,508& x 14 1,695,857
ORIl 22| BE ()
3,200,000 ~4CH* 122 153,600
A Hs 2X3 18,000,000 18,000,000
307 212+01& 18,000,000 18,000,000
09 2+LAE2ES 18,000,000 18,000,000
SEN HSHEI(BAL S, HA)
18,000,000,000& *14] 18,000,000
Al 2SH22C/ANAY 2= 20,094 19,919 175
308 AXIHSO0IA 20,094 19,919 175
1 SIS0t HAS A 20,094 19,919 175
OHAIZHI22CIANAE 238
20,094,000 * 14! 20,094
SSEEYAN 2E 125,000 125,000 0
= 45,000
= 13,500
Al 66,500
201 fer=2 3| 5,000 5,000
01 AtR2te|HI 5,000 5,000
OSSEEAl 2 0l=d HH
1,250,000& *4=2 7| 5,000
307 glztol & 120,000 120,000 0
s 45,000
s 13,500
Al 61,500
09 2=FAHEXS 120,000 120,000 0
OSSN 28X
5,000& x24,0000H 120,000
= 45,000
=S 13,500
Al 61,500
SHEzE S8 AE A 198,000 198,000 0
301 LELE NS 198,000 198,000




A nSHEL
. WS
el HSnsSAIEX (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 198,000 198,000 0
O==Z Yoz 23S X
22,0002 %1, 500CH * 122 *50f% 198,000
SSEHAKEH 800,000 700,000 100,000
[ 225,000
Al 575,000
307 21201 & 800,000 700,000 100,000
[ 225,000
Al 575,000
0 2= AHEXS 800,000 700,000 100,000
OZANENS2Z(SSEHA) XEAY 800,000
-SSEHA(LEHA) XA
700,000,000 * 14 700,000
= 225,000
Al 475,000
-SSEHA(SXYG0SHA) XA
100,000,000 * 14! 100,000
BA2=SAL EH 22 3,760 3,760 0
201 Eer2 3| 3,760 3,760
01 At2t2lt] 1,360 1,360
OHAZ=3A 28 22 28|
1,000,000 %14 1,000
OHAl & =] elE
30,0002~ 122 360
02 s3=4H 2,400 2,400 0
OHAI2=3AA & 28 832=
200,000 * 122 2,400
MattHA & EXAHY 2,352,000 432,000 1,920,000
= 966,000
[ 483,000
Al 903,000
307 elztol & 2,352,000 432,000 1,920,000
= 966,000
s 483,000
Al 903,000
00 2F=SHEXS 2,352,000 432,000 1,920,000
OMA&AHA £ EXAHY
92,000,000 +21CH 1,932,000
= 966,000
=S 483,000
Al 483,000
OMattHA 2| X2
1,000,000 3504 = 12 420,000
Hsus 43t 5,000 4,000 1,000
= 2,500




A nSHEL
M DESANM
el HSnsSAIEX (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,500
308 AtXIEHMSOIE 5,000 4,000 1,000
= 2,500
Al 2,500
11 S 2S0HE Y EAS A 5,000 4,000 1,000
Ogsusitt 24 5,000,000& *14] 5,000
= 2,500
Al 2,500
AlUBA 2E et e 44,000 259,000 /215,000
207 ARl 44,000 220,000 A176,000
01 A1E4H| 44,000 220,000 176,000
OAUHA EX3 SIHZA 84
22,000,000 * 14 22,000
OAlLIHA 28530 € 2424 &Y 89
22,000,000 * 14! 22,000
Hess(nsadgy) 4,062,673 5,894,432 1,841,759
WSHARES(RSHZ L) 4,062,673 5,894,432 A1,841,759
WSASSESH HE 4,062,673 5,894,432 A1,841,759
701 JIEtRI NS HES 4,062,673 5,894,432 A1,841,759
01 JIEt=I AN ES 4,062,673 5,894,432 A1,841,759
ORSMASH XY HAK AKX
=4 (10%) 1,130,573,000& *14] 1,130,573
Ol &0l &t 520,000
-SHS ST I (FUFA0A)
100,000,000 14 100,000
-SUS IEFXE 4(FUFAHMA)
300,000,000 * 14 300,000
-OteS OI0tE 28 =HHAl ZHI(F2F
OF il &) 50,000,000& 14! & 50,000
-HEES HAZEHHIIBIT)EXI(=UE
Oofl &) 70,000,000 * 14 70,000
O&=M& Ul ofl &t 835,100
“ALEH A LED &K CHADT &K
235,100,000 *14] 235,100
-S=HE U ASWEMA A
250,000,000& *14] 250,000
~HIHE Y DEFAIL I
150,000,000 *14] 150,000
-SIHE il HAZESeHLDI(BIT) &X
200,000,000 *14] 200,000
OdealA XNE dE=3 1,567,000
-2 0TV Al & s (DEE, 0ISE)
25,000, 0002 =4CH 100,000
-2l B339 F
300,000,000& *14] 300,000
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